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ECHR RS # R s | EfL | &S & JFE | Hig its ey %
B130— 1 | AHLAE, SK572 Jiis 8.69 4.28 1.58 74.6 ZIA -
B130— 2 | AfLa® NO70 M 5.74 3.30 1.35 20.8 ZIE -
X130— 3 aAlls NB54 b 4.60 4.04 0.9 15.9 ZlE -
[X130—4 1R NQ71 IIb A5.22 | 1.53 1.54 18.3 | fleha -
130—5 AR MR60 a 153.50 | 2.08 1.67 98.0 | #RIERE -
X130—6 TRk NG54 v 25.2 4.33 2.48 | 337.5 Zila -
X130—7 {1 R NQ72 a A3.98 | 3.37 2.51 40.3 | fRJeFa -
[X130—8 pay NQ72 b 12.44 | 2.38 1.66 53.5 H & -
X130—9 Fap 9SKO08 8 & 5.84 2.12 1.78 14.7 e & -
F130—10 | =MAEhk NN69 |7 hL| Ad.44 | A3.59 | 1.31 24.7 ZilE -
X131—11 R NO70 M A2.28 | 4.46 1.00 11.6 W A -
X131—12 U NE84 Ma A3.60 | 5.72 1.49 36.8 ZIlE -
X131—13 a5 hRE MR61 IMa 4.65 4.65 1.32 37.2 s -
X131—14 R NES1 Ma 3.75 4.14 0.73 14.7 ZIE -
(<131—15 R OD64 v 5.12 5.20 1.33 49.3 ZIE -
[X131—16 IR NQ72 IMa 3.66 4.09 0.52 12.5 s -
X131—17 R NB54 b 4.90 5.33 1.35 38.0 ZIE -
X131—18 U NS64 5.48 5.74 1.32 o7.4 ZIlE -
X131—19 R NN70 5.44 5.75 1.22 41.9 s -
X131—20 R MR61 b 6.95 6.58 0.98 87.2 ZIE -
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AR

54 KRE 555 KA 56 KRk
SFENGRA X BRIRFIAC N2 BRIRFNAC ERRFIAALL N BRIRFNAC rL 2T
PER -

£ RI%E 1

KA 1 5 3 13 4
=ATER
A LA B

54 e 1 1

Pap-ha 1

&Et 1 1 5 3 0 14 6
ALK 10K A EILRAE BRI EBRY ¢
SRR X PFEXO FEXO FEXO FEXO FEXG FEX®D FAEX®D
a %

ARIE 2 2 3

FhCE 6 2 21 2 14 8
=R
A AL, 2 1 10 5 1 4

R

PSR-t 1 2 1 1

Gral 11 3 0 35 8 19 12
xR22 H+
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